

ON SEMIGROUPS AND SEMIRINGS OF NONNEGATIVE MATRICES

ADEL N. ALAHMADI, YOUSEF ALKHAMEES, AND S. K. JAIN

ABSTRACT. We characterize a finite cyclic semigroup of nonnegative matrices by generalizing a result known for the special case in which the semigroup is a group. We also characterize semirings S of nonnegative matrices A with $\text{diag } A \geq I$ whose multiplicative semigroup $S - \{0\}$ is cyclic.

1. PRELIMINARIES AND DEFINITIONS

For any square matrix A , let A^D and $A^\#$ respectively denote the Drazin inverse and the group inverse of A . The group inverse of A exists if and only if the index of A is 1, in which case $A^D = A^\#$. The Greville formula states that if $p(x)$ is a polynomial over any field satisfied by A , then by rewriting $p(x) = cx^l(1 - xq(x))$, we obtain $A^D = A^l q(A)^{l+1}$. In addition, $l \geq \text{index} A$.

All matrices in this paper are square nonnegative matrices. For definitions and terminology, refer to Ben-Israel and Greville [1] and Berman and Plemmons [2].

Our results are based on a theorem due to Jain, Kwak, and Goel [5] for nonnegative matrices A that have a nonnegative group inverse $A^\#$. For convenience, we state the result below.

Theorem 1.1. *Let A be a nonnegative square matrix such that $A^\# = \sum \alpha_i A^{m_i}$, where α_i are positive numbers and m_i are positive integers. Then, there exists a permutation matrix P such that PAP^T is a direct sum of matrices of types (I) and (II) where*

(I) : βxy^T , x, y are positive vectors with $y^T x = 1$ and β is a positive root of $\sum \alpha_i x^{m_i+1} = 1$,

Date: July 20, 2011

2000 AMS Subject Classification. Primary: 15A09. Secondary: 05B20.

Key words and phrases. Semiring. Semigroup. Group Inverse. Drazin Inverse.

$$(II) : \begin{bmatrix} 0 & \beta_{12}x_1y_2^T & 0 & \dots & 0 \\ 0 & 0 & \beta_{23}x_2y_3^T & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \beta_{d1}x_dy_1^T & 0 & 0 & \dots & 0 \end{bmatrix},$$

where x_i, y_i are positive vectors of the same order as $y_i^T x_i = 1$; x_i and x_j are not necessarily of the same order; $\beta_{12}, \beta_{23}, \dots, \beta_{d1}$ are positive numbers and $d \geq 2d \mid (m_i + 1)$ for some m_i such that the product $\beta_{12}\beta_{23}\dots\beta_{d1}$ is a positive common root of at most d of the following equations:

$$\begin{aligned} \sum_{d \mid (m_i+1)} \alpha_i x^{(m_i+1)/d} &= 1, \\ \sum_{d \mid (m_i+1-k)} \alpha_i x^{(m_i+1-k)/d} &= 0, \quad k = 1, 2, \dots, (d-1). \end{aligned}$$

The summation in each of the above equations runs over all m_i for which $d \mid (m_i + 1 - k)$, $k = 1, 2, \dots, (d-1)$, with the convention that if there is no m_i for which $d \mid (m_i + 1 - k)$, then the corresponding equation is ignored.

2. MAIN RESULTS

We begin by characterizing any finite multiplicative semigroup generated by a nonnegative matrix. This question has remained open for some time (c.f. [4], p. 44 and p. 46). Lewin [6] characterized nonnegative matrices that generate a finite cyclic group.

Theorem 2.1. *Let S be a cyclic multiplicative semigroup of nonnegative matrices generated by A . Then, S is finite if and only if there exists a permutation matrix P such that PAP^T is a direct sum of B and N , where B is a direct sum of nonnegative matrices: (I) rank 1, idempotent matrices xy^T , x, y are positive vectors with $y^T x = 1$, and (II) rank d , $d \geq 2$, which are $d \times d$ cyclic block matrices,*

$$\begin{bmatrix} 0 & \beta_{12}x_1y_2^T & 0 & \dots & 0 \\ 0 & 0 & \beta_{23}x_2y_3^T & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \beta_{d1}x_dy_1^T & 0 & 0 & \dots & 0 \end{bmatrix}$$

such that $\beta_{12}, \dots, \beta_{d1}$ are positive numbers, the product $\beta_{12}\beta_{23}\dots\beta_{d1} = 1$, and N is nilpotent.

Proof. We assume that S is finite. Since S is a finite multiplicative cyclic semigroup generated by A , $A^m = A^l$ for distinct positive integers m and l . We assume that m is greater than l . We write $m = l + r$. Then, $A^l(I - A^r) = 0$. Thus, A satisfies $p(x) = x^l - x^{l+r}$. Since the index of A is less than or equal to the multiplicity of the root 0 of $p(x)$, we obtain the index of $A \leq l$. Rewriting, gives $p(x) = x^l(1 - x(x^{r-1})) = x^l(1 - x(q(x)))$. We now invoke the Greville formula for computing the Drazin inverse A^D of A ([1], Ex. 39, p. 148), namely $A^D = A^l q(A)^{l+1} = A^l (A^{r-1})^{l+1} = A^u$, where $u = l + (r - 1)(l + 1)$. Therefore, A^D is nonnegative.

We decompose $A = A^2 A^D \oplus (A - A^2 A^D) = B \oplus N$.

We know that B is of index 1 and $B^\# = A^D$ and thus $B^\#$ is nonnegative. Next, $A^u = (B \oplus N)^u = B^u \oplus N^u = B^u$, because the index of A is less than l , and hence less than u . Thus, $B^\# = B^u$. We note that by Theorem 1.1, there exists a permutation matrix P such that PBP^T is a direct sum of matrices of types (I) and (II). Type (I) is a direct sum of matrices βxy^T , where β is a positive root of $x^{u+1} = 1$ and x and y are positive vectors with $y^T x = 1$. Thus, $\beta = 1$ and so type (I) consists of summands xy^T . Type (II) consists of $d \times d$ cyclic block matrices

$$\begin{bmatrix} 0 & \beta_{12}x_1y_2^T & 0 & \dots & 0 \\ 0 & 0 & \beta_{23}x_2y_3^T & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \beta_{d1}x_dy_1^T & 0 & 0 & & 0 \end{bmatrix},$$

where $\beta_{12}, \beta_{23}, \dots, \beta_{d1}$ are positive integers such that their product is a common root of the equation $x^{\frac{u+1}{d}} = 1$, where d divides $u + 1$, and equations $x^{\frac{u+1-k}{d}} = 0$, $k = 1, 2, \dots, d - 1$ admitting only those equations for which d divides $u + 1 - k$. Since such equations all have roots 0, it is clear that the only possibility for obtaining the desired common root is to choose $d = u + 1$, in which case none of the latter equations exist and the positive root of the first equation is 1. Thus, $\beta_{12}\beta_{23}\dots\beta_{d1} = 1$ and we have only the summands of order $(u + 1) \times (u + 1)$. Conversely, since each summand generates a finite semigroup and N is nilpotent, the semigroup generated by A is finite. This completes the proof. \square

Next, we consider a semiring of nonnegative matrices.

We assume that A is a noninvertible nonnegative matrix. The description for nonnegative invertible matrices with a nonnegative inverse is straightforward (c.f., [3]).

Theorem 2.2. *Let S be a semiring of nonnegative $n \times n$ matrices with additive identity 0 such that for $A \in S - \{0\}$, each entry on the $\text{diag}A \geq I$. Suppose that the multiplicative semigroup $S - \{0\}$ is a cyclic semigroup generated by A . Then, (i) index of $A = 1$ and (ii) if $A + A^2 = A^n$, for some positive integer n , then there exists a permutation matrix P such that PAP^T is a direct sum of matrices of type (I) : βxy^T , x, y are positive vectors with $y^T x = 1$ and $\beta \in]1, 2[$ is the positive root of $(x^{n-1} - x) = 1$, and type*

$$(II) : \begin{bmatrix} 0 & \beta_{12}x_1y_2^T & 0 & \dots & 0 \\ 0 & 0 & \beta_{23}x_2y_3^T & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \beta_{d1}x_dy_1^T & 0 & 0 & \dots & 0 \end{bmatrix},$$

where the product $\beta_{12}\beta_{23}\dots\beta_{d1}$ is a positive common root of at most d equations: $x^{\frac{2}{d}} - 2x^{\frac{n}{d}} + x^{\frac{2n-2}{d}} = 1$, and $x^{\frac{2-k}{d}} - 2x^{\frac{n-k}{d}} + x^{\frac{2n-2-k}{d}} = 0$, $k = 1, 2, \dots, d-1$ (d is chosen in such a way that at least one of the exponents of terms in the first equation is an integer; we apply the convention that if any other exponent is not an integer, then that term is absent).

Proof. Since A is a generator of the multiplicative semigroup of S , we can write $A + A^2 = A^n$ for some positive integer n . Thus, A satisfies $p(x) = x + x^2 - x^n$. It is known that the index of a matrix A is less than or equal to the multiplicity of the root 0 of $p(x)$. Thus, A is of index 1, since A is not invertible. Rewriting $p(x) = x(1 - x(-1 + x^{n-2})) = x(1 - x(q(x)))$ and invoking the Greville formula $A^\# = Aq(A)^2$ ([1], p. 148, Ex. 39), we obtain $A^\# = A(-I + A^{n-2})^2 = t(A)$. Note that $A^{n-2} - I \geq 0$ because $n \geq 3$ and $\text{diag}A \geq I$. Thus, $A^\# \geq 0$.

Therefore, by Theorem 1.1, there exists a permutation matrix P such that PAP^T is a direct sum of matrices of types (I) and (II).

Now, type (I) consists of summands βxy^T , where x, y are positive vectors with $y^T x = 1$ and β is a positive root of $xt(x) = 1$; that is, $x^2(x^{n-2} - 1)^2 = 1$ (i.e., $(x^{n-1} - x)^2 = 1$). Equivalently, β is a positive root of $(x^{n-1} - x) = 1$ or $(x^{n-1} - x) = -1$. The former equation has exactly one positive root between 1 and 2, whereas the latter has no positive root by the intermediate value theorem of calculus.

Type (II) matrices consist of $d \times d$ block matrices, as indicated by the statement that where the product $\beta_{12}\beta_{23}\dots\beta_{d1}$ is a positive common root of at most d equations: $x^{\frac{2}{d}} - 2x^{\frac{n}{d}} + x^{\frac{2n-2}{d}} = 1$, and $x^{\frac{2-k}{d}} - 2x^{\frac{n-k}{d}} + x^{\frac{2n-2-k}{d}} = 0$, $k = 1, 2, \dots, d-1$ (d is chosen in such a way that at least one of the exponents in the first equation is an integer, with the

convention that if any other exponent is not an integer then that term is absent). \square

As an illustration, we determine all possible summands of matrices A for which $A^2 + A^3 = A^6$. Here, A satisfies $p(x) = x^2 + x^5 - x^6 = x^2(1 - x(x^3 - x^2)) = x^2(1 - x(q(x)))$. Then by the Greville formula, $A^\# = A^2(q(A))^3 = A^2(A^3 - A^2)^3 = t(A) = \sum \alpha_i A^{m_i}$, in the notation of Theorem 1.1. Then, the summands of type (I) are βxy^T , x, y are positive vectors with $y^T x = 1$, and β is a positive root of $xt(x) = 1$; that is, $x^3(x^3 - x^2)^3 = 1$, or $(x^4 - x^3)^3 = 1$. The positive roots, if any, are the roots of $x^4 - x^3 = 1$. This equation has only one positive root and it lies between 1 and 2. So the summand of type (I) is βxy^T , where β is the positive root of $x^4 = 1 + x^3$. Thus, $\beta = 1.3803$.

Next, we determine summands of rank d greater than 1. The possible choices for d are the divisors of exponents of terms appearing in the expression, $xt(x) = (x^4 - x^3)^3 = x^{12} - 3x^{11} + 3x^{10} - x^9$, which are $d = 2, 3, 4, 5, 6, 9, 10, 11$, and 12.

We begin with $d = 2$. Then, $\beta_{12}\beta_{21}$ must be a positive common root of $x^{\frac{12}{2}} - 3x^{\frac{10}{2}} = 1$ and $-3x^{\frac{10}{2}} - x^{\frac{8}{2}} = 0$, which does not exist. Thus, there are no summands of rank 2.

For $d = 3$, $\beta_{12}\beta_{23}\beta_{31}$ must be a positive common root of $x^{\frac{12}{3}} - x^{\frac{9}{3}} = 1$, $3x^{\frac{9}{3}} = 0$ and $-3x^{\frac{9}{3}} = 0$, which again does not exist. Thus, there are no summands of rank 3.

For $d = 4$, we need to find a positive common root of the equations $x^{\frac{12}{4}} = 1$, $-x^{\frac{8}{4}} = 0$, Since even the first two equations do not have a common solution, it follows that there are no summands of rank 4.

Proceeding similarly, we can show that there are no summands of ranks 5, 6, 9, 10, and 11.

For $d = 12$, $\beta_{12}\beta_{23}\dots\beta_{12,1}$ must be a positive common root of the only possible equation $x^{\frac{12}{12}} = 1$. This implies that there exists a summand of rank 12 and $\beta_{12}\beta_{23}\dots\beta_{12,1} = 1$. In particular, this means that this summand is of order 12, and it looks like

$$(II) : \begin{bmatrix} 0 & \beta_{12}x_1y_2^T & 0 & \dots & 0 \\ 0 & 0 & \beta_{23}x_2y_3^T & \dots & 0 \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots & \vdots \\ \beta_{12,1}x_d y_1^T & 0 & 0 & & 0 \end{bmatrix},$$

where $\beta_{12}\beta_{23}\dots\beta_{12,1} = 1$.

We conclude that a summand of rank 1 will generate an infinite cyclic semigroup and that a summand of rank 12 has a finite order of 12. This completes the characterization of the matrix A , where $A^2 + A^3 = A^6$.

Remark 2.1. *Unlike for fields for which if the multiplicative group is cyclic then the field must be finite, a semiring with a multiplicative cyclic semigroup need not be finite.*

Acknowledgements. The authors would like to thank the referee for his/her careful reading of the manuscript and suggestions.

REFERENCES

- [1] Adi Ben-Israel and Thomas N.E. Greville, Generalized Inverses and Applications, Springer-Verlag (2003).
- [2] A. Berman and R.L. Plemmons, Nonnegative Matrices in Mathematical Sciences, SIAM (1994).
- [3] F. Harray and H. Minc, When Nonnegative Matrices are Self-inverse, Math. Mag. 49 (1976), 91-92.
- [4] S. K. Jain, Nonnegative Matrices Having Nonnegative Generalized Inverses, Math Student, Indian Mathematical Society, 46 (1978), 42-48.
- [5] S.K. Jain, Edward K. Kwak, and V.K. Goel, Decomposition of Nonnegative Group Monotone Matrices, Trans. AMS, 257, Number 2 (1980), 371-385.
- [6] M. Lewin, Nonnegative Matrices Generating Finite Cyclic Group, Linear and Multilinear Algebra 5 (1977), 91-94.

DEPARTMENT OF MATHEMATICS, KING ABDULAZIZ UNIVERSITY, JEDDAH, SAUDI ARABIA

E-mail address: adelnife2@yahoo.com

DEPARTMENT OF MATHEMATICS, KING SAUD UNIVERSITY, RIYADH, SAUDI ARABIA

E-mail address: Ykhamees@ksu.edu.sa

DEPARTMENT OF MATHEMATICS, KING ABDULAZIZ UNIVERSITY, JEDDAH, SAUDI ARABIA; KING SAUD UNIVERSITY, RIYADH, SAUDI ARABIA; AND OHIO UNIVERSITY, ATHENS, OH 45701, USA

E-mail address: jain@ohio.edu